IS-MA(Eco)CBCS-
DDCE — |

2014
Time : As in Programme
Full Marks 70
The figures in the right-hand margin indicate marks.
Answer from all the Sections as per-dimction.

Section - A

Answer any three questions within 700-1000 words
each of the following : 12x3 = 36

1. Explain the basic principles of a Physiocracy.
How is it different from merchantilism ?

2. Who is Robert Malthus ? Discuss the Malthusian
theory of population.

3. Discuss the rise of socialist ideology.

4. Discuss about the contribution of W.S. Jevons to

Economics.
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IS-MA(Eco)CBCS-
DDCE — i

2014
Time : As in Programme
Full Marks : 70
The ﬁgﬁres in the right-hand margin indicate marks.
Answer from all the Sections as per direction.

Section — A

Answer any three questions within 700-1000

words each of the following : 12x3 = 36

1. Define externality. Discuss the optimal provision

of a public goods under externality.

2. Critically examine the Voluntary Exchange Theory
of Public Expenditure.

3. Discuss the various theories of tax shifting in an

economy.
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IS-MA(Eco)CBCS-
DDCE — il

2014

Time : As in Programme

Full Marks : 70

Answer from all the Sections as per direction.

" General Instruction

Answer any three questions from Section - A

(12x3 = 36), Word Limit — 700 - 1000.
Answer any three questions from Section - B
(8%3 = 24), Word Limit — 500.
Answer any two notes from Section - C
(5%2 = 10), Word Limit — 300.
Section - A
1. Critically examine the law of Diminishing

Marginal Utility.
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IS-MA(Eco)CBCS-
DDCE — IV

2014
Time : As in Programme
Full Marks : 70
Answer from all the Sections as per direction.
General instruction

Answer any three questions from Section - A
(12x3 = 36), Word Limit — 700 — 1000.
Answer any three questions from Section — B
(8%3 = 24), Word Limit ~ 500.
Answer any two questions from Section - C
(5%2 = 10), Word Limit — 300.

Section-A

1. How does the Keynesian theory of income
determination score over the classical theory of

income determination ?
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